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SECTION - A
Analytical Ability
Questions : 75 Marks : 75
Ay :75 1 ardnes: 75
() Data Sufficiency (Marks : 20)
dorod Lovgad

Note: In questions numbered 1 to 20, a question is followed by data in the form of two
statemnents labelled as T and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an
appropriate choice from (1) 10 (4) as per the fullowing guidelines :

(a) Mark choice (1) if the statement I alone s sulficient to answer the question.
(b) Mark choice (2) 1f the statement 1i alone is sufficient to answer the question.

(c) Mark choice (3) if both the statements | and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements [ and I together are not sufficient to
answer the question and additional data is required.

LS 1 1508 20 85 a0ys (28 R4S W o¥ [D4), o°Q (B8 L 11 v fhhes Mo
Sodh [UbSares Sgrotom aRgugToD. AN Serordy addriod, auyR
[Rdare (D SSrerard) 2@ ol DorgErw el dor ud h
Ng0owd. & e 8o rdhlns (e addrnow (1) wod (4)
LE% LB wanh B JoNE Habod.

(3) (0% VErerbo adyodS WHEN0 | S @D Dovgivond 2 @aran
(1) e h0ovod.

(b) [PHD Srene adlyodhsd @odeo I G| fhu*?g‘ghmii oD EaETraD
(2) m 8o S0d.

() | Wregrno athokd Ghdsrew L 11 Sui W&éﬁw wothe®
o 58 Eyge ?'.Jn‘g“'gﬂ st b saren () m BBoN0k.

@) DS BEreso adyom® ©hSe 1 I §o brar Longlo 5
wihly Sevofo eBhSand b warew (4) M HEoded

2



Download from JbigDeal

1SRW-13 . E

1. What is the positive integer n not exceeding 180 7
180 & oo &R JYrgroson 20 ?
I. n is divisible by 7.
73 n grRobudhdod.

II. nisdivisible by 13.
13 S nerfchuddod.

2. If ABCD is a square and E is a point on BC, then what is the area (in square units) of AECD ?
ABCD 2.8 $ébdpiw, BC 2 E 2.8 Dotsiy wawd AECD Smego (150 dirdbd”) oo 7

L. BE = &
1. BE:EC=1:2

3.  What is the shape of the play ground ?
wd Yoy uso bed ?

1.  The perimeter of the play ground 15440 m
8 ob Poiy By Sud 440 .

1.  The area of the ground is 154(0) sq. m.
¥ YU 3Tego 15400 S,

4.  What is the remainder when n is divided by 8 ?
naﬂ-ﬂwnnﬁmﬁ‘}ﬁa o 7

I.  The digit in units place of n is 8.
n olo&y, .80 Q*b-:-ﬁ"ﬂ o3 8,

II.  nis the product of eight consecutive positive integers.
N St cllabd B8 Sn Yrgrosy ego.

§,  What is the greatest common divisor of numbers aand b 7
Ropges a, b & HOY Shrdg gra¥o I8 7

.  The least common multiple of a and b is ab.
a,b & £330 Srarvng theleo ab.
II. atb=15.

6. What is the average ofa,b,cand 57
a, b, c 5o ol Jod ?

. S{(a+b+c)+d=45
II. a+b=c+d.

v
7. %atisthevalueuf%-hg?

Ez et b

X I ’ L

1. (;1-1] = 1({)
II. x=2z



10.

12.

13.

14.

Download from JbigDeal

Is xy<07?

xy < 0 esyyedoce ?
L Ski+3ly|=0
I Sk = Jlyl

How much time did A take to reach the destination ?

Hingo SE&rAS A %N Wdbo Jod 7

I The ratio between the speeds of A and Bis 3 : 4.
A,Euimuﬁgmﬁgj:i

II. B takes 316 minutes to reach the same destination.
&3 fhgo D08 BE 36 Dtodres Hbdbod

What is the slope of straight line 7

LT aren ok ?

..  The straight line passes through the origin.
o VOF0w aredody) Mo ol

1.  The straight line makes an angle 30% with the positive direction of the X-axis.

& LE¢Tp N-elly 55 H4E 30° Eoo Slpod.

. -5 20
In the matrix A = 5

-3 20
e A [ 0 -
l. A 1s singular.
A wrordno,
II. A 1s symmetric.
A ﬂ‘iﬂﬁn
What is the valueofa+b?
a+b aJedw Jod 7
l. azh
1. af-b¥=a-b
Is the quadrilateral a square ?
L dé:d:amu SO 7
I.  All the sides of the quadrilateral are of equal length.
@ iy o) thares Lrd PUD $8 domav.
II. The diagonals of the quadrilateral are of equal length.
& ﬁé:ﬁ:aa:‘{g SEgY PERPLL W0,
For positive integers x, y and z, is the product xyz even ?
fars! *'-a‘?usﬂ'u X, v,z v ol TR0 XyZ w0 ‘i:ruq.'l'g ?
.  x+yisodd
X+YEN wowse
II. x+y+zisdivisible by 7.
73 x+v+z grioouthidod.

] . what is the value of x ?

} & ¥ Nl wod 7

15RW-13
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15.

16.

17.

18.

19,

20.

What is the monthly salary of A ?
A Jo ddo Joid 7

1. A gets 15% more than B and B gets 10% less than C.
B 0B A 815% Jﬁ}ﬁ.'?-'a. C 0B B 8 10% ﬁé:ﬁ_;":t éwm‘i@*u&

1. C's monthly salary is T 2,500,
C 3 2o T 2,500.

Among the real numbers a and b, is b a rational number ?
Jvgn wowges a, b et b edddad :'Jaq.lg woibogr ?

I a + b 15 a rational number.
a+hba¥ efddab nogg.

I1. a — b 15 a rational number.

a~b 2.5 e¥dddb Done
How many persons :a;e there in the library ?
¢ [fogrochod’ Jod OB Dy aam 7

I. If 3 persons leave the library, then the library has less than 8 persons,

Soihth dgthes [Hogrecho wod I0)E 0¥ d 8 EoB Sknd Lod HgHeotrd.

1. It 3 persons cnter the library, then it has more than 12 persons.

wihth aghes (Hogrodbod*s )8 v d 12 00d LoB iy d od Hgdesotrd,

In the figure given below, what is the value of e + f+y+ & ?

B0l D008 o+ P+ Y+ 5 Jeod dod ?

. oa+p =y+d
I[1. 8+d=90°

Howmuchis(x+v) :(x—v)?

(x+y):(x=y)dod?

I. x:y=3:2

. x>0,y>0

If p(x) is a polynomial, is (x — 2) a factor of p{2x* = 1) 7
plx) 2% 2frdhd soand p(2l-1) & (r-2) scderoir ?

L. x -1 is a factor of p(x).
plx) 8 (x-1) &.5 s~Smo80.

II.  x-71s a factor of p(x).
pix) & (x - 7) a8 s~00&0.

5 P.T.O.
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(if) Problem Solving (Marks : 55)
‘.f.‘-‘hf:rvg bl

(a) Sequences and Series (Marks : 25)
W EST, Fiee |

Note : In each of the questions numbered 21 to 30 a sequence of numbers and letters that

follow a definite pattern is given. Fach yuestion has a blank space. This blank space
is 10 be filled by the correct answer from one of the four given options to complete
the sequence without breaking the pattern.

st PR 21 wod 30 B85 Ko (DB RS adyd woRges e, e¥ores md
WE [FRREDS Jabhrd) Sdamian. (D8 RHSER &) o b adys swib
DuUyse wed D0 ewd worwd obh@h dabiedE oo GO

ar0odiod,
2. 7:49:: 163 :
(1) 5 (2) 6 (3 9 (4 11
22. Bl:e4:: 9 :
(1) 16 (2) 18 (3) 24 (1) 34
3. AEF:Bl:: : OUV
(1) NOPp (2) MPQ (3) NOQ (4) NOR
24. DRIVE:EIDRV :: BEGUM: |
{1) BGMEIl! (2) MGBEU (3} UEBGM (4) BGMUE
25. Ex[:5x9:: :iS!Il
() LxK (2) K¥L (3) OxU 4) Ux0
6. ANT:CPV:: : DQZ
(1) BOX {2} BRB (1) FSB (4) FTB
17. BCEH, . DGKP, EINT
(1) CDIG {(2) CEIK - (3) CFIM (4) CEHL
28. K11 M, OISLEITG '
(M 113K (2) 114) (3) 112] ) 113M
29. HOSPITAL : PATIENTS : : SCHOOL :
eanna)® : Bbes L ar T
(1) TEACHERS (2) CLASS ROOMS
dargrpaives S808 Htbeo
(3) STUDENTS (4) BLACK BOARDS
E::J‘E:‘.ﬁm Y Wue
# ¥

0.  Ifthe letters D and E are removed from the English alphabet, then ]ii-[:' Em::::h letter is
2ofiip e¥dire 2od D, E ol vloud FUiy slpd aentld wio

(1 F (2) € (3 G (4) H
6
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Note : In questions 31 to 35 pick the odd thing out :
o @ 31 od 35 8% e ﬁ:’ilt.-ﬁ‘ OB BBoNed.

3l (1) 147 (2) 125 (3) 103 (4) 84

A, (I (3, 4,5) (2) (5,12,13) (3) (6,8, 10) (4) (10,12, 15)

33. (1) Apnl (2) May (3) November (4) September
Jipcbed D wHonth gonth

M. (1Y 19/15 (2) 13/11 (3) 75 (4) 32

35. (1Y C4E (2) G8I (3) LISN (4) T21V

Note : Fach of the questions from 36 to 45 follow a definite pattern. Observe the same and

fill in the blanks with suitable answers.
ASong 1 36 ol 45 DU e (DR 28 pHddn Dabtrdy Sdparyon. o ddbinrdy

KaDoD Lo Urgrarel prdubs Jprdotiod

6. 1115125, 1423, 200,250
2 4 y! 3
(1) 1663 (2) 1785 () IRIS (4 1925
37. 0,2,3,5,8, 10,15, 224,26, 35
(1 19 (2) 18 (3) 17 (4) 16
11111 1 1 111101 1L 11}l L g
B 3PP 12T WA 250 23T — 57
1 1 | 1
M 35 @ 37 3 5 4) 3
39. 5, 11,21,43, 85, .
(1) 181 (2) 180 (3) 171 (4) 170
40. 75, 105, 165, 195, . 285
(1) 255 (2) 235 (3) 225 (4) 215
35 9 13 21
. 5.9 13077 ¥ :
1 17 15 21
(1) 1_1 (2) 297 (3] 19 (4) 37
42. (L, Z)(8,Y)(27,X), (125, W), .
(1) (243,U) (2) (243,V)  (3) (343, V) (4) (343,U)
43, AEl, CGK, . GKO, IMQ
(1) EIN (2) ENJ (3) EIM (4) EMI
44, 1If {a }"_ issuchthata, = a,=landa =a +a,+..... +a, _,forkz3, thena,=
-Iﬂ,.}:_' o3 a, = a,=1,k238a =3 +nj+...,.,+at_'urjinﬂguﬂu‘i:ydsaj=
(1) 16 (2) 32 (3) 64 (4) 128
45, Then'™ term in the sequence
1,-2,3,-4,5,-6,7,-8,......i8
SRS 1,-2.3,-4,5,-6,7,- 8, ...... € n Do
(1) (=1¥"n (2) -n (3) n (4) [—nﬂ-‘-_n

7 P.T.O.
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(b) [ﬁl;.ﬂigl.ih‘::: (Marks : 10)

Note:  An automobile company produces four types of vehicles (Cars, Motor bikes, Scooters
and Mopeds) at dnﬁ_m:nt_ branches in the country, The production at these vnits from
2(:::‘.-‘ to 2012 are given in the table below. Answer the questions 46 to 48 using the
table,

thoong : a4 uﬁ‘&;ﬂf 50w aewdh Ysve u:r-"-rmu. (578, el 9w, b,
Srd) dEwE' DS |Brodod® datrthdipod. 2007 Dod 2012 H5% o Ko
Saird Jhorew (B0d Difss AT, 'R WEEOM 46 Wod 48 HED [DhHub

2Ly Eb‘-"mg.

2007 | 2008 | 2009 | 2010 | 2011 | 2012
Cars
st 3600 | 6300 | 8100 | 10800 | 16200 | 19800

.

Motor bikes
A Pes | 7000 | 12250 | 15750 | 21000 | 31560 | 38500

e T - —

Scooters
e ot BOOO | 14000 | 18000 | 24000 | 36000 | 44000
2 .
h‘iﬁ:rln 2000 | 15750 | 20250 | 27000 | 40500 | 49500
46, :l‘h:ﬂrlalti? of the number of Cars produced in 2008 10 the number of Scooters produced

in 15
2008 Scirgn s*d Dowg, 2011 &* Sairgs fam oY Lopgkr MyyA
(1) 37:40 (2) 27:40
(3) 17:40 (4) 7:40

47. In :-hi::h year the total number of the four types of vehicles produced was 62100 7
2 ROREYT0E" BArTh arewith Ysru ey wédo Do 621007

(1y 2007 (2) 2008
(3) 2009 (4} 2010

48. Ifk: 1 is the ratio of the number of Scooters produced the 2011
Scooters produced in 2007, then k = y SR Seashm et
2011 &° EabrF 2,08 Rowg, 2007 &* SatrFh Loy opg k 1 1N @08

H'f'ua}ti)k=

(1) 3 (2) 4
0 ;

@ 3 @ 2
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Note :  The expenditure under six heads A, B, C, D, E and F in an year are as given in the

following Pie diagram. Answer the questions 49-53 using the diagram.

Haong : 2.8 mﬁ;ﬁjﬁnﬁ‘ A.B, C.D E F g3 SoTUW BN (808 aQye ‘W' (Pie)

49.

sl.

Si.

Dood® abeugran. & Dho wgrdorm 49 wod 53 S5 fe [hoD aarwlang.

If the total expenditure in an year is ¥ 54,00,000, then the expenditure (in rupees) under
the head E in that vear 15
2% LobSyEos’ @0 wAY T 54,00/000; ¥ w Lopdyiod” wodo E D iy

(Erardbg
(1) 360,000  (2) 420000  (3) 6,30,000 (4)  7.20,000

If the expenditure under the heads A and B together is T 18,00,000 in an year, then the
expenditure under the head D in that year 1s
A, B & wonve Dolodil a¥ Lobs 8od® pi) T 18,00,000, wond o wobd)tod”

- D w3 modod piiy

(1) 7420000 (2) T480000 (3) 7550000 (4) 78,50,000

If the difference in the expenditure under the heads A and D in an year is ¥ 2.5 lakhs, then
the total expenditure (in lakhs of rupees) in that year is

w8 Rohdybod' vorw A, B v p&es’ o T 2.5 oD o Dobd)dod® Ewdo
pi) (VEY Srarade’) |
(1) 90 ‘' (2) 8I (3) 72 (4) 63
If the expenditure under the head E in an year 1s ¥ 3.5 lakhs, then the expenditure (in lakhs
of rupees) under the head D in that year is
¥ Lobdy80d’ odo E R ) T35 ¢ 08 @ ondydud® wodo D L iy (viv
Erarabgh
(1y 3 () 3.5 (3) 4 (4) 4.5
In any year the expenditure under the heads C and F together is equal to
) Dob#Bod B worw C, F o piy) Sedond = )
(1)  half of the expenditure on B and F together.

B, F somred piyd® dilo.
(2) double the cxpenditure on C,

wo¥o C w wi)ys Odox).
(3} the expenditure on I} and E.

wowres D, F o piiyy,
(4) the expenditure on A.

sofo A W ad),

0 r.T.0.
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Giventhat A= {n:nprime. 1=n<20)
B=in:nodd, l=nz<0}

and C = {n: nsquare, 1<n <20}
Using this answer the questions 54 and 55.

ol - A={n:n@x;:‘ﬁ:i}nq15, 1<n <20}

54,

35

= {n:ndbyopg,  1Sn<20)
C={n:naf vowg, 1=n=<20}
8 aR@NoW 54 w0l 55 [DH LD eawdiy,
BrC=
(1 {1,4,9 146} (2y {1,3,57.9,11,13 15 17,19}
(3) o | (4) {1,9}
The¢ number of integers between | and 20 which do not licin A v B w8

AUuBUC & %o dod | Bod 20 B S, Kg'a“nn"h "mq:g

(<)

MNote :

(1) &8 (2) 7 (3 6 : (4) 5 .

Coding and Decoding Problems (Marks : 10)
Uﬁaﬂ g*auh nJ:JJ:J-Er.-J

The letters A, B, C , Z of English alphabet arc numhtrﬁd 1. 2, 3....... 26

respmw-:l}f A code is d&ﬁgﬂﬂd by shifting r letter to (14 - r)™ letter if 1 <rel3

and " letter to (40 — 5)™ letter if 14 < s € 26. The reverse process is used for

decoding. Using this answer questions 56-60 given below.,

H8 . mofiin eXSarod®) eforw A B, Cu....., Z o DO 1, 2, 3.0, 26 1

56.

57.

8.

59.

8o, drroliolh X B'ES* 1 Sr< 1) vand rHe¥od) (14-reffom
wv, 14 <5 5 26, sand s D o¥ord) (40 - 5) D sffort oo OO D' L8
wnd@eNod) & 86 B A2 ueron 56-60 2% e [ e sarenling.

The code word for HYDERABAD s
“HYDERABAD" & 8% 20

{1y FQJIVMLMJ) (2) FIOIVMIML (3) FUOVMLM) {4y FIOJMVLMI
The code word for WARANGAL is
“WARANGAL" & 8 o

(1) OMUMZBGM (2) QMVMZGMB(3) QVMZMBGM (4) QVMZIMGBM
Which word 15 coded as IPKFMZAG] 7

IPKFMZGI m 5°8 wowd s ?

(1) ENTRANCE (2) ELEGANCE (3) EXCHANGE (4) EMPATHIE

Which word is coded as UIBIKTEYZ ?
UIRIKTEYZ rr £'8 cscaid De5ahdy 7

(1) SEDUCTION (2) SELECTION (3) SUGGESTED A& (4) :SHOCKINGS
The code word for TIRUPATI is

TIRUPATI & E°8 O
(1) TEMXVSTE (2) TESVXMTE (3) TESVMXTE (4) TEVSXMTE
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61. 1f TEACHER is coded as UFBDIFS, then the code word for PARENT is

TEACHER 55 w0 UFBDIFS, sond PARENT & 8 2o

(1Y QSBOFU (2) QBSFOU (3) RBSENU (4) OQRAESU
62. IfBOMBAY is coded as OBZONL, then the code for DELHI s

BOMBAY & E°8 Lo OBZONL, wcnd® DELHI & &4 2xio

(1) QRYVU (2) QYRUV (3) QRYUV (4) ROQYUV
63. If COMMERCE is coded as DONNESDE, then the code for BIOLOGY is

COMMERCE 7 DONNESDE r~ &8 3% »d 86 &° BIOLOGY & €6

(1) CIJPMPHZ (2) CIOMOHZ (3) CIOOMHZ (4) CIOMOZH
64. If FAILURE is coded as EZHK.TQD, then the code for SUCCESS is

FAILURE & EZHKTOD &8 184w wopd SUCCESS & §4 2xfaw

(1) RSDDFRR (2) RTDDFRR (3) RTBBDRR (4) RTCBRDR

65. If TRIANGLE is coded as USJBOHMEF, then the code word for SQUARE is
TRIANGLE ) USJBOHME = £°G &%, wlipth SQUARE 8 §'4 Difin

(1) TRUBSF  (2) TRVSBF  (3) TRUSBF (4) TRVBSF

(d) Date, Time & Arrangement Problems : (Marks : 10)
B8, Shobo, wdudde if:.ﬁ:am

66. [If 26" January of a non-leap year falls on a Sunday, the day on which 15™ August of that

ear falls is
E"g Roadydo s ek f&:ru‘bﬁ;}ﬁn-ﬁ‘ 26 mhH0 wbado swd, od wondydo
15 ur‘i"'-:r.:- mﬁ:ﬂ.’yﬁa a0
(1) Sunday (2) Wednesday (3) Triday (4) Saturday
ubardo angiardo BEado Fomr oo

67. What is the angle between the two hands of a clock when the ime 15 5.15 am. 7
aabo § o, 15 D Liedbod® a8 KEAIrE0S*N Todk dwese ey §'wo Jod ?

(1) 72A° (2) 67" (3} 647 (4) SB®
68. A clock strikes once at 1 O'clock, twice at 2 O'clock and so on. The total number of

strikcs it makes in a day 15
2% Kacdirdo 1 Hob% asir0, 2 fobed Jod &, ... e Hobes Edhibod. ol

Ferd® o Haardo £F rove Dowg
(1) 78 (2) 112 (3) 132 ) 156
9. D is the only son of his father C. A is B's brother and B is C’s sister. How is D related to A ?
D i 58 wd Sojd C & 243 Lhrdh A o3 553 B 8 TEHD, BoS B C
0. wlpth A8 D 8 o Dowogo D& 7
(1) Sister (2) Brother =~ (3) Nicce (4) Brother’s son
240 S odhd Sosden ANGEHD TUS

11 P.T.0.
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70. A meeting i5 scheduled at 11.00 am for which a person P who is away at 100 kms from
the venue has to attend. If P starts at 945 am. in a car which moves with a speed of
60 kmph. then the P is late to the meeting by how many minutes ?

adabo 11.00 HobedH DopBo 28 Wedrds, o Lardd L0 Dod 100 3.4,
Erdod® dir) Bl P St svaord adabo 945 doves wabesdd Hob% 60 3.0
Sos Eiia 5% erdbnn o LrEipng o), Fwires vedgom dherd ?

(1y 5 (2) 15 (3) 25 (4) 35

T1.  Ift; is the time elapsed between 11.10 am to 3.50 pm: and if't, is the time elapsed between
10.15 am to 4.05 pm, thent, :t, =
dddbo 11.10 fiobe od Ardbojo 3.50 dobe HEH MDD Wabo 1,: dSabo
10.15 fobe food Srdboj#o 4.05 Hobe H8H Hawh Dabo ty, wopd A
(1Y 5:4 (2) 2:3 (3) 4:5 (4) 3:2

72. A, B, C, D and E sit around a table such that A is between B.and C and is left to B; Dis o
the right of B; and E is between € and D. Then th&person to the immediate left of C is

A, B, C, D, E 2.8 wgy vhur SrERay . 20C° B, C o fuiigm dobr B & b (08
Aaayd; B & 04 28 D; C, D o 0§ E damth. ey C & d¥n b %
&%) 538 -

(1) D () B (3) A (4) F

: al + bl as
73. Giventhatash= ab unﬂuﬂh=gfmanyr¢alnmnh¢rsamdh.

Ifxsy=2A2 thenx =
a’ + b? at
o S wopger a,b e B asb - “ap ' 84b=T el sy

:-}r=1ﬂ2,umﬁ.[x=

(1 y @ 3
(3) 2y (4) 33

74.  For real numbers a and b, if ach = (ab)'’, then (243) o (16807) =
D woggen a, b 5 avb = (ab)'%, wond @l (243) © (16807) =

(1y 31 (2) 20 (3) 22 4 21

75, Ifaeb=(a+b-12-Lthen(laDa(3al)=
awb={a+b=-1P2-l,vad(le)a(3ai)=

(1) 576 (2) 625 _13) 675 (4) 676

12
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SECTION - B
Mathematical Ability
fefd ;:I"im'ad
L

Cucstions : 75 Marks : 75
vyew : 75 Sy e 1 78
(iY Arithmetical Ability iMarks : 35)

wobhicla #:‘ag’gﬁ

e - | —— | % ——
— .!—:|.' — - m— -

76. [a?_ ‘J ‘[a"' f] '[f "J =

(1) a (2} © (3) xvyz 4y 1

. a+ A
3 625) * -
77. If[’&] .[ g thena=
, 2
2

N BN

(1y 2 {2y 1 3 -1 4y -2
78. In a mixture of 35 litres the ratio of milk and water is 4 : 1. If one litre of water is added o

79.

80.

the mixture the ratio of milk and water in the new mixture is
35 Hod Dpivod® dreo, Do 41 1 WNEST davyan. & DELrDE 28 S
£hna :Jﬁ-'}ﬁ E"§ IhLEn::-tﬁ" ared, K}fa m&ﬂ

1) 2:7 @) 7:2 (3) 4:3 4 2:1

The salanes of two persons are in the ratio 4 : 7. Both spend 8074 of their salaries and save
the rest. The ratio of their savings is

sl Hpho Fsorw 41 7 WPBS damaw. &0 IS’ aFdr 80% winEv
Diferd Ol D, 8 PSP IV oo KB

1y 8:2 (2) 7:5 (3) §:3 4 4:7
238 -2
If (ﬁ)x+ . (’*ﬁ)  then a value of (3% - 1) is
5 -2
("u&}x+ Jiﬁ}u& ool (¥ -1) 8 o8 Duwd
1y 2 {2y 4 (3) © (4) 8

12 P.T.0,
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10+ 236 + 2310 + 215 + 10— 26 - 210 + 2415 =
M 2G5 2) 23
(3) 23 (@ 1o

The least value of k such that 315 = k is a perfect square is
315 * k bogprd bfo edb o ol k £ Deon

(1) 35 (2) 31
(3) 21 (4) 15

Which among the following numbers leaves remainders 1, 2 and 2 respectively when
divided by 2,3 and 7 ?

& (200 Dopped® O0D 2,3, 7 o L NRERGD 1, 202 ¥ Qo :z;.ﬁ_-cﬁh'{".:

(1 130 (2)" 68
(3) 65 (4) 57

The L.C.M. of two intcgers is 144 and their G.C.D is 12. If one of the integers is 36, then
the other integer is

Jod Yrgrol Donge S 144, o8 A 12, QUS° o8 Yrgrok Yowg 36,
wand Jodd Yrooso

(1) 18 (2) 24
(3) 48 (4) 432

The least number that 15 to be subtracted from 2580 so that it leaves a remainder 4 when
divided by 9, 11 and 13 1s

9,11,13 & & A% 4 Fho Hil)othS 2580 Mwod Bhilabbotis 0% Lopg

( 1 2) 2
(3) 3 (4) 4

Three numbers are in the ratio 1 : 2 : 3 and the sum of their squares is 504. The largest of
the numbers is

awrdh Dopgeo 11213 BB Yod 8 dgre Wdo 504 M Pob. v Dowged’

HOLERO. e
(1} 6 (2) 12
3) 18 (4) 24

14
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87. The asccndmg order of the fractions : % % ]_';I_‘ % is
5629 11 .
e 3o 1T 13 Qe (S,
36 9 11 22 61l
N 79114 @ FIT814
211 .9 6 3611 9
S VTN @A 7819

88. The persons A, B, C share a property in such a way that A and B get ? and % and C
getting the rest. The person or persons who get the least property
P8 BgHes A, B, € e0 2.8 6D A, B ot Sisitrm £ S0 2 S0t DN € &

Dot Do St 98 85,5 N By 8E T Bekes

(1 o 2 8
(3) AandB (4) AandC
A0 B AwDale C

89, The descending order of 410, 1‘!3 \ﬁ is

410, 6.3 & ebEirem |San0

(y /10,3, 4fs @ 4.6
3) 3,46, 410 @ 6. 410,43

90. In a face to face election the winner got 65% of votes and won by a margin of 12000
votes. The total votes polled (in lakhs) is

8 wgriwh JNECT af eegd 65% Ly LoDBod 12000 by wp¥ssE noY
o Voawd Lo Dowg (LELE")

(n 4 (2) 04

(3) 0.04 (4) 0.004

91. In alibrary 23% of the books are in Arts. 30% in Commerce, 35% in Science and the rest
are in Telugu language. If there arc 1440 books in Telugu language, the numbcr of books
in Arts is

o¥ Swd &N Phsud® 23% un:. 30% 570y, 35% WOy dodm DAYEY Beth
RS damjon. Bealh gD s e opg 1440, wond ufy¢* P wowg
(1) 2760 (2) 3000
(3) 3600 (4) 4200
15 I.T.0.
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A person bought a pen and sold it for a loss of 10%. If he had bought it for 20% less and
sold it for T 44 more than earlier sale price he would have made a profit of 40%. The cost
price of the pen is (in 7)

25 028 28 Serdy) £ 0D 10% 2@t Jfword.edsd o Soran 20% S %
GO5 Fd Sodd Edb Do Sam) 44 e, JDG JEwon) Dol wSI8 40% ordlo
230, u Suo £ wbeh (e

(1) 200 (2) 225
(3y 250 (4) 280

If an article is sold at a profit of 15% instead of a profit of 9% the person gets T 60 more.
The cost price of the article (in rupees) is

o8 whpygn 9% orgrl8 oilpEam 159 oiEnad o8 wibglt 60 &r. Jyh Epod,
o Bty §n plbch (e, ekt

(1) 1200 (2) 1050

(3 1000 (4) 00

A and B started a business investing ¥ 10 lakhs and T 15 lakhs respectively, After
6 months C joined them by investing ¥ 20 lakhs. If the profit at the ¢nd of the year is
1 5.6 lakhs, then the share of A in the profit (in lakhs of rupees) is

A, B o a8 argaron UM 10 oo &0, 15 ofe e Ddekhod® doDomd.
6 Sve SBTE C ud agardod’ 20 vfe Viwdd Jovh. Doddyorodod I
5.6 vir Or orgiod A i (oo & oS

(1 16 2) 24
(3) 3.2 (4) 4.8

In a joint business A, B and C invested capital in the ratio 5 : 6 - 8. At the end of the
business they shared profits in the ratio 4 : 3 : 12."The ratio of the number of months in
which A, B and C kept, their capital is

&5 dupd avgartod” A, B, C e0 5:6: 8 m;,gef‘ R0 wawd e,
Tgroredod® ath crgrei 4: 31 12 WAL DoDE TG, A, B, C e Wfperbes
W Fo Lo s e
(1) 2:1:3 (2) 5:3:12
(3) 8:5:15 (4) 25:18:16

' )
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96. Pipe A fills a tank in 8 hours while pipe B empties the full tank in 10 hours. If both the
pipes A and B are opened simultaneously the time taken (in hours) to fill the tank is

AW o8 880 8 roved’ Dodied. B 39 Jodd YD 10 dosved” wrb Tipod.
A, B God 3pur S0 807 §¢ Jododhd svheld Livabo (Hoved’)

{1y 33% (2} 36%
(3) 40 (4) 42

97. Two pipes A and B can fill a tank in 10 hours and 15 hours respectively. If they are
opened altemately for one hour each and if A is opened first, the time (in hours) required
to fill the tank is

Sot PR A, B & o G2 Jowods DA™ 10 foves, 15 fokes uuabo
ST otran. $ ToBo8S eiad S0E 5 (3 Koblr BHwm WEG A WD
807 &Y Dodod® LY adbe (fobed’)

(1) 10 @
3) 12 & 1N

98, If a man starts at A and walks at 5 kmph he will reach B late by 7 minutes. But if walks at
6 kmph he will reach B early by 5 minutes, The distance between A and B (in km) is

a8 5e8 A Wwod wabesdd Mod 5 S o8’ WAT 7 Fwdrw welgom B
Ford. 570 vd% Kob% 6 8.0 JMom AN 5 FWw WoHTI B Idedd.

A, B & 9dg &rdo (3.ad. &&°

(1) 4 2) 5
(3) 6 @ 7

99, A train of 270 metres long crosses a platform of 390 metres length in 33 seconds. The
speed of the train (in kmph) is
270 &. &P Ko o8 Too 390 DY PEP Ko FEFTo B cPodH 33 V@

0ad geo o HobDH (Bad. o

(1) 66 (2) 68
(3) 72 (4) 75

100. Three persons A, B, C together can complete a work in 8 days where as A alone requires
24 days to complete the same work. The number of days required for B and C together to

complete the same work is
E0ipt Hgihes A, B, C w0 Bod a8 DD 8 Sfared’ Ppg Jabiud. o0 A 25,08 oF

OO0 Yl Jhot® 24 Heren DHS0A. B, C w Eud od 200 o Iuoks f

E‘a:’r.a‘p'.:uug
{1y 18 2y 16
() 12 4 10

17 P.T.O.
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‘4 . .
ﬂ} man completes E”‘ of the work in 1% days. The number of hours required 1o complete
the remaining work by him is

oot 4
€ DT T DB 1% Berd® el g Sabred, Dher L2 LPodatads aos

ol svheldh Hghd Hotyee*
(1) & (2) 9
{3 7 (4) 8

A r:_ircle is !nm‘ihed n an equilateral triangle. If the area of the circle is 462 cm?2, then the
perimeter (in ¢m) of the trnangle 13

a8 i ([@gbeod’ af 3)d0 soddDoswdha. D)¥ Srego 462 $00..
eonanl |Bgbao Dofed (Lo i & &)

(1y 72 (2) =4

(3) 96 (4) 126

The area uf‘ a rectangular metal sheet is 60 sq.m. The sum of its length and diagonal is
equal to 5 times its breadth. Then the difference (in metres) between length and breadth is

SESOEs T 28 Sy Puko Irege 60 I oD Sgo, Do Wwio
Sdeay 5 Do, winpih by, eoye Fdo (. v

(1 4 2 5

() 6 4 7

A cone n}" height 24 cm and radius of its base 6 ¢m is made up of clay. If that clay is
reshaped in the form of a sphere, then the diameter of that sphere (in cms) 15

5 24 Vo, 3 ag3Yo 6 Lo, e 8 Hob wok HEE Jvuass. o)
e Som DODRYH « F¥o argho (ol veh)

{1} 6 {(2) 8
(3) 12 (4) 14
The surface arca of a sphere is same as the curved surface area of a right circular cylinder

whose height and diameter are 12 cm each. Then the radius of the sphere (in cm) is

WD, g gt 288 12 Vod. do ¥ o PRy DEde Irergns
RSO a8 ey a08Sy Brago dobd. ey v iy TG0 (Wo.ab. u&h

(n 3 (2) 4

(3) 5 (4) 6
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106. Let “s' be the surface area of a cube of edee 9 em. This cube is cut into smaller cubes of
edge 3 cm each. If *S” is the sum of the surface arcas of all the smaller cubes, then s * § =

9 T0sd sod de of 550 audde greugo ‘s’ 3 Dodd wobed DD UmSe
IR LTS LR R 4T £80oUaAn & iy asarechod  audde Srerge
dndo'S'wond s: S = '
(1) 3:1 ) 1:3
(3) 3:2 4y 2:3

107. The number of revolutions made by a wheel of 42 cm diameter in travelling a distance of

1320 metres is

1320 a»¥ &rdo (Ddirdoddod® 42 o.M, Fgom fiv Sjfo dN LOEhary
woyg

(1) 300 () 400

(3) 500 (4) 1000

108. The radius r of a right circular cylinder is the same as that of a sphere. If the volume of the
sphere is twice that of the cylinder, then the hei ght of the cylinder is

&8 o g argddo r ol 2. o TGI8 R0, Yo Gk fushidrmo
a0 RpRibirar D8 8doy) sond, & Trdo i

2

m 3 2 5
dr

3 3 (4) 2r

109, The digit in the units place of the number 13490 jg
mogg 1390 & L %ﬂ*:«':-@ wos
(1 4 (2) 3
(3) 2 (4) 1

110. If a* =k denotes that k is the remainder when 8a is divided by 7, then 100* =
a* =k &'k odg a7 I grhodm bit) A3 v h, 1000 -

G2t W
(1 (2) 2
(3) 5 (4) ©

19 P.T.O.
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Mj&brﬂt and Geometrical Ability (Marks : 30)
fadah, H'-E;'h:.i:ﬁ: i"’b)ggﬁ
For two statements p, q, it is given that p — ({~p)vq) is falsc, then the truth values of p

and q are respectively
Mg &0 uR Sod [Bhderu Dowood p = ((~phvq) wald wdgind an, P q ©

mﬁaaﬁgaﬁﬁm‘&ﬁ’m
(1 ET 2y F.F () T.T (4) T,F

Let p, q be two statements. Then the statement (~p) v {p ~ q) is equivalent to

P. g = pidoreis §08. winpd BHS80 (~p) v (p A q) B8 Hego
(1) qep (2) p=q (3) gq=p 4 p=-~q

[f12a=100and A = {a| gcd (a, 100) = 1}, then the number of elements in A is

I<a<100,A = {a|fSgr (2, 100) = |} westipdy, A &10 hresve Dowg
(1) 25 (2)° 16 (3) 40 (4) 20

_x ifxe Q)
Let fix) il-x ifxeR-0Q

where ( is the set of all rational numbers.

Then fis
fix) = H-: E:Eﬁ_m TS

2% 4 Q sddab Dogrg LB, ey { w30

(1)  one-one only (2) onto only
areSo s Zo|ifie S dD
* (3) one-one and onto (4) neither one-one nor onto
esae o, oM WIQER 2, Do S

115.

116.

Suppose A and B are two sets. Then a set, among the following, which is not equal to
AW B, in general, 15
A, B w Both DdebenE'od derdmone (300 ov@d* A LB % o 50 LDd

(1) (A-B)u(B-A)V(ANnB) (2) (A°~B°)
(3) (A-B)wB 4 Avu(B-A)

If the lines 3x — ky + 4 = 0 and 4x + y + 2 = () arc perpendicular to each other, then
k:-12k+4=
WE¢dpeo Ir-ky+d=0,dx+y+2 =0 WnGo voworm o8 k- 12k + 4 =

(1) 0 (2) 4 (3) 8§ (4) 12
20
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117. The length of the line segment intercepted between the axes by the line joining (6, — 4)
and (-3, 8) 15
(6, - 4), (-3, 8) v 50D Fo Vrdorgre ey 20304, voddwodo DUY

(1) 4 (2) 3 (3) 6 (4) 7

118. sin 1207 cos 60° cot 30° cosec?30® =
(1) 0O ] (2) 3 3y -1 (4)

b e

5 S5sinB@+4cosl
119, tan 9= 12 7 4sin®+5c080
73 80 T 3

120, 4 cos B 5in’@ — 4 sin O cos’d = 1
n o (2) 1 (3) sin48 () -sindB

121. A pole subtends angles 30°, 45% 607 respectively at points A, B and C all lying on a

AB
horizontal line through the foot of the pole. Then BC ™
2.8 fogo ovd 8o hoar Fd o8 §Ba el DoPw A, B, C o 2§ wom

AB
30°, 45°, 60° Ber oS tipind. vy 56

(1) ﬁ (2 3+1 (3) 3 @ 31
122, -4 +oxi-dx+ 1=0(x=0)
—._.i_'l_"l-'l:
’ 3
3 .
m 3 @ 2 @ 3 L@ 5

123, If x =7 is a factor of the polynomial f{x), then a factor of f{2x% — 1) among the following is
wirind flx) & x-7 28 sUoro¥Dd (Sob 85 (2 - 1) % oX s~8arodo

(1 x-1 ) x-2 (3) x+1 ) x+2

124. The remainder obtained when 1! + 2! + 31+ + (2014)! is divided by 7 is
114214 31+, + (2014)! 0 7 T greNod Hifyy Fo

(1y 3 (2) 4 (3) 5 (4) 6
125. G+ DG+ (3 (x+d)+1=

(1) £(?+5x+4) (2) 2(x*+5x+5)

(3) % (x*+5x+6) (4) +(x?+6x+5)

21 P.T.O.
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Tlac sum of seven consecutive cven integers is s. Then, in terms of s, the greatest of these
Inlegers is '

of ol
wthy Sl 10 Wrgrose o s. s hord® Hesetn 0% Yrgro¥o

s+ 20 5+ 72 5+ 42 5+ 30
(1) 3 (2) 9 {3) - (4) &

The maximum value of the expression 2 + 8x — 2 ig
R0 2+ B - 12 Glo&y, 109 Jevd
-]

(1) 16 (2) 17 (3) 18 (4) 19
b_c_d

a b= =@-cf+(c-bP+b-d)?-(d-ap=

(1 1 (2 o (3) - 4 2

The sum of first fifty odd natural numbers is
e afrgy dh Wirae Logge Ao
(1} 2500 (2) 625 (3) 10000 (4) 1600

_ , h (1Y
The cocfficient of +* inthe expansion of Lr-;j is

1 G
[.rt = ;} oy oo’ ). Do
(1 °c, 2 - (3) ‘c, 4 -9,

The coefficient of middle term in the expansion of (1 + x)¥0 i
(142070 Gl Doded” ngfs o A& MHes¥o

1.3.5 ... 39 L.

2 3.5..39

D 0 2 @ =0
21.22 .40

(3) 00 (4) 401 2%

2 16 a he
_E 0 - {:1 ﬂ 'E"'"-{}-lb":ﬂ
= Jdat+thitc=

(2 2) -2 (3) 4 (4) 0

If A, B are two matrices such that AB = A, BA = B, then A+ B2 =
Jdolbwr|O%w A Beo AB= A, BA =B H&Eﬁma Al+R!=

(1) A+B (2) A-B (3) 2A+B (4) A+2B
ﬂ : -V
M @ T8 @) | @ -1

22
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135, x=+x+vy z% = |

(y 1-x (2) 1+x

(3) 1-2x (4) 2x-1
136. In a AABC, D, E, F are the mid points of the sides AB. BC and CA respectively. If

137,

138,

139.

140,

AB =8 cm, BC =15 ¢m and AC = 12 ¢m, then DE + EF + FD =
AABC €3 ghares AB, BC, CA o &g Dodifyen S8 D, E, F o, AB = 8 o5,

BC = 15 70.20, AC = 12 0.4, wawinth DE + EF + FD =

(1) 165¢em (2) 17.5cm
16.5 730,00, 17.5 2oty
{(3) 25cm (4) 35cm
25 330.aD. 15 ol

A, B, € arc three points on the circun{erence of a circle with centre O. If. in AABC.
ZB = 60" and ZC = 70°, then ZBOC =

So[o O r~ £85 2.4 B)d VR A, B, C e 2urth Dotifeo. A ABC €° /B = 60°,
£C =70°, wond LBOC - |

(1y 100° (2) 120° (3) 90° (4) 8Q°

If P, Q. R, § are the mid points of the sides of a quadrilateral ABCD, then the quadrilateral
PORS15a
&5 S&ywoe ABCD &°0 gheres 2l Dothiyes P, Q, R, S wond Sédyeo PQRS

wan oX

(1} Squareg (2) Parallelogram
whlo ol ﬁ-ﬁnﬁ:aﬂﬂ-

(3) Rectangle (4} Rhombus
BES&LRo KifiSdihyeo

. . _ . AC
The points A(3, -5) and B(-5, 4) are given. If C is a point such that °B = 2, then the
coordinates of C arc

Dotbges A(3,-5), B(-5, 4) & aixwdsd) C o Dodily % =2 wdbedno®l C 2l

0B) @ @) o0 @

A (4, 2), B (6, 5) and C (1, 4) are the vertices of a AABC. The median from A meets the
side BC at . Then 2AD? = |
Al4, 2). B(6, 5). C(1, 4) co a¥ Lﬂzﬁmﬂ ABC u':'uﬁzr ’Erg*u. A Twow i;qisﬁé dw fheso

BCw® D &'E' Et.ﬂ:n_.'ll}‘éln:i ﬁ'ﬂ'.ad: 2AD? =
(1) 13 (2) 14 (3) 15 4 16
2 P.T.0.
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Statistical Ability (Marks : 10)
~roR2s i'ﬂiﬁggﬁ
The mean of the distribution given below is
(508 dereno® tadigheo
x 10220 | 20-30 | 30-40 [ 40-50

Frequency

Bighg0 5 10 7 R
(1) 30 2) 31
(3) 32 (4) 33
For a given data,if the mean is 60 and the mode is 66, then the median is

AL &8 SEroTl8 WEeho 60, erimo¥so 66, wand wndipiido

(63 @) 64
(3) 60 (4) 62

The mode of the foliowing data 15
[Eod dgroTn8 wrireeSo

6,9,13,10,16,13,13, 14,15, 11,13, 12, 14
(y 1 (2) 12
() 13 “ 14

If & is the standard deviation of x|, x, ... x_, then the standard deviation of 9 + 3x,,
{}+3-r:p ri.-g I 3-1-“ iﬁ-
Xy Xp e Iy © [S50D0R0 0 wond, 9+ 3x,, 94 3xy, ., 9+ 3y, & (BD0DSedo

(1) lo-13 (2) ﬂJ?ﬂi-l-.?-
(3) 3o (4} lo+9
The vanance of first n even natural numbers is "
Awcddd n Ldre DOLOPgL KD
2 F

n* — 1 e
Iy =5 @ =

n? -1 241
) 5 @ -

The mean of first n odd natural numbers is

2w n Bn e Nowge Sdgkio
{1} n=1 (2) n+1

(3) n+2 (4) n

24
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 147. A number is selected at random from the first 80 natural numbers. The probability that it
15 divisihle by 4 or G is

qwee 80 ez Dogge wobd ﬁi&'d.}q:,ﬁun- 2.8 Wopga k) FN0. @ Lopg 4 o doe
6 d Jyhom grnolute Sogragd

23 29
) 55 @ %5

27 33
3) %o @ 30

148. Two fair dice are rolled. The probability that the sum of the numbers on the faces shown is

8 s
God i BE rdfud 0000 LD Ebod logge Wwéo 8 sHards
woarned .
5 1
(1) 3¢ 2)
1 |
(3) 3¢ 4 3

149. The probability that either of the events A and B to happen is 0.6 and the probability that
both of them to happen is 0.2. Then P(A") + P(B') =

(Here A’ is the complementary event of A.)

o A B off Q@0 w88 Logidodes Dogrngd 0.6, Todr Dogilovhe
bﬂﬁ?iﬁé 0.2. ognd P(A") + P(B") = '

(B8 A'6D WES A & Prigo)

(1) 04 (2) 0.75

(3} 0.8 (4) 1.2

150, Suppose fix) = (x - 2) (x - f:l;l (x-="T).
If 2 number @ is chosen from {1, 3, 4, 5, 6, 7, &, 9, 10} randomly, the probability that it
satisfies the equation f{o) = 0, is
flxy=(x=2) (x = 5) (x - 7) s&Fod.

{1.3.4,5,6,7.8,9, 10} od o8 Logg o W i)y Eor JwyHoll eb flo) =0
8)35%00F Ko &od LoyrSgs
1 2
M 3 @ 3
3 2
B) 3 4 5

15 P.T.O.
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- SECTION - C
Communication Ability
Questions : 50 Marks : 50
PART -1

Choose the correct meaning for the word given :
151. radical

(1) extreme (2}  red

(3) colourful (4) slow
152, tether

(1) teeth (2) together

(3} restrain (4) free
151, synergy

(1} combined size (2} joined effort

(3) related parts (4) organized finances
154. pervade

(1) conguer {(Z) escape

(3) spread through {4) convince
155, nascent -

(1} smelly (2} fragrant

(}) immune (4) incipient

186. vacuous

(1) abandon (2) wvacate
(3) unavailable (4) expressionless
Fill in the blank choosing the correct word :
157. The rains the fields, washing away the crops.
(1} stormed : (2)  inundated
(3) blew (4) covered
158. Due to the ongoing controversy the political situation in the state is
(1} upbeat (2) cosy
(3) turbulent {4} sublime
159, England was a great power in the nineteenth century.
(1) merchant (2) army
(3) mercantile (4) navy
160. The mule would not pull the farmer's plow.
(1) rigid (2} sturdy
(3) rugged (4) stubbom
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PART =2

Choose the correct answer :
161. The process of reviewing the performance of employees periodically is called

(1} performance management (2) employee review
(3) performance appraisal (4) employee confidential report
162. The interview conducted in a situation not quite pleasant or comfortable to the candidate is
called
{1} unstructured interview (2) . depth interview

(3) stress interview (4) distress interview

163. The medium of outdoor poster in which printed ad message is displayed is called

(1) cutouts (2) POP

(3)  exiubat (4) bill board
164. A market which is dominated by a few suppliers is known as

(1) perfect market (2)  buyer's market

(3) oligopoly market - (4) monopolist market
165. PERT is

(1) Programme Evaluation and Review Technique
(2} Programme Education and Review Teaching
(3} Programme Enlightment and Review Technique
(4} Progress Evaluation and Review Timing

1 6. Whi-.:h. of the following is used for modulation and demodulation ?

(1) Modem (2) Protocols
(3) Gateway (4) Multiplexer
167. Linkage between CPU and users is provided by
(1) storage (2)  control unit
(3) penpheral devices (4) software
168. In a computer system, which device 15 functionally opposite of a keyboard 7
(1) mouse (2) track ball
(3) printer (4) pendrive
16%9. The first mechanical computer designed by Charles Babbage was called
(1) Abacus (2} Processor
(3) Calculator (4}  Analytical Engine
170, Which of the tollowing 1s an example of non-volatile memory ?
(1) ROM (2) VLSI
(3) LSI (4) RAM
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PART -3
Choose the correct answer :

171. A: “There, that's what you looked like when you were a month old.”
B: “How awful!™
In this conversation ‘B’ . 1
(1) ispleased (2) is ﬁlsnppumted
(3) is unhappy (4) thinks he looked ugly

172. A: “Could I borrow some money from you 7
B: *“What do you nced it tor 77
The conversation implies that ‘B" .
(1) is dodging the issue (2} 15 angry
{3} docs not want to give money (4) wants to know why ‘A" needs money

173. “It was a knockout. Umesh saw stars in his eyes.”
The speaker implies that Umesh.

(1) 1s exuberant (2}, 15 romantic :
(3} 15 dreaming {4)  has fallen unconscious
174. The active form of the sentence "c-mails have been writter by her’ is
(1) she has written e-mailg (2) she had wnitten e-mails
(3) wrile e-mails to her (4) shec scnt e-manls
175. A: “I've pot a new joh!"

B: “Great! that should open doors for you.”

‘B’ implies thar .
(1} ‘A’ can get more opportunities.  (2)  The job will be done outdoors.
(3)  The job will fetch a lot of money. (4) ‘A’ will be able to work well.

176. A: “Thercis a lot of disumty among the people.”
B: |agree. Unity is the crying need of the hour.”
‘B implies LK
(1) there is no need for unity among the people.
(2) there is an urgent need for unity among the people.
(3)  aplan may be made for achieving unity,
(4}  unity may be achieved by crying for it, hour by hour.

177. A: 1 want to train rn:.m:]f' in yoga practices.”
B: “lwantio ﬁ-llrnl.' -amt

‘B" imphes
(1) that he would En on a suit.
(2)  that he would follow anyonc weanng a suit.
(3} that he would imitate *A”,
(4) that it does not suil his temperament to follow anyone.

Fill in the blanks with the appropriate phrase/verb/preposition :
178, Manish had a poor salary but he didn’t need much to

(1) liveup (2) liveon (3) live after | {(4) livein
179, Anthony his wife to tell her that he would reach home Jatg, -

(1) called up (2) called on (3) called at i4) - called away
180, He has to with the eccentricity of his boss, _ .

(1) puton (2) putup (3) put away (4) putin
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I181. Great people achieve what the others only dream .
(1) by (2) of (3 wit {4) out
182. She saved the child drowning.
(1) off (2) from (3) for (4) through
183. She’ll be fearful that.
(1) on (2) of (3) with (4) to
184. Bemyg very tired studying.
(1} impinges (2) impeaches (3) inhibits (4) inculcates
. 185. They cultivating the land for twenty years when they moved to the city.
(1) had been (2) arc (3 is (4} have been
PART-4

Read the following passage and answer questions 186-190 ; |

After two decades of growing student enrollments and economic prosperity,
business schools in the USA have started 1o fage harder times. Unly'Havard's MBA
school has shown a substantial increase in enrollmentjin recent years. Both Princeton and
Stanford have seen decreases in their entrollments, Since 1990, the number of people
receiving MBA degrees has dropped about 3 percént to 75,000 and the trend of lower
enrollment rate 15 expected to continue.

There are two factors causing this decrease in students sccking MBA degree. The
first one is that many graduates of four year colleges are finding that an MBA degree
does not guarantee a plush job on Wall Street or in other financial districis of major
American cities. Many of the entry level management jobs are going to students
graduating with Master of Arts degrees in English and the humanities as well as those
holding MBA degrees. Students have asked the question, “Is an MBA degree really what |
need to be best prepared for getting a good job 7 The second major factor has been the
cutting of American payrolls and the lower number of entry-level jobs being offered.
Business needs are changing, and MBA schools are struggling to meet the new demands,

186. Which of the following business schools has not shown a decrease in enrollment ?

(1} Prnnceton (2) Harvard (3) Stanford (4} Yale
187. What is the duration of an MBA degree ?

(1} 4 vears (2} 3 yecars

(3) 2 years (4) not mentioned in the text

188. What arc the two causes of declining business school enrollments ?
1) Lack of necessity for an MBA and an economic recession,
2{ Low salary and toreign competition.
Declining population and low education standard.
(4) Fewer MBA schools and higher tuition fees.

189. Which are the degrees preferred along with MBA for entry-level management jobs 7
(1) Post Graduation in Linguistics
(2) Graduation in humanities
(3) Masters programme in Arts and Literature
(4) Master in English and Humanitics

190. What should be dome by business schools to change the situation ?
(1} Charge lower fee
(2} Examine the changing needs of husiness
(3) Change the curnculum
(4) Improve placement procedure
29 P.T.0.
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Read the following passage and answer questions 191-195 ;

More busincsses arc addressing social 1ssucs through philanthropy. Companics
donatc a portion of their revenues to charitics or a specific social cause. Education is
known to be the favourite object for philanthropy in which 75 percent of companies are
participating. Although the donations will help a good cause, many companies use
philanthropy primarily to improve their reputation or get a tax deduction. Philanthropy 1s
not limited to the mature markets in the West. In emerging markets philanthropy is even
more popular. Asia’s millionaires committed 12 percent of their wealth for social causes.
While millianaires in North America only contribute 8 percent and those in Europe
5 percent. :

Although philanthropy helps society, we should never over estimate it socio-
cultural impact. Recent growth in philanthropy is driven by the changes in the society.
Even in a recession, 75 percent of Americans still donate to a social cause,

But philanthropy does not stimulate transformation in the society. Transformation in
the society dnves philanthwopy. That is why addressing socal issue€ with plilanthropic
activiies will have a rather shor=tenm impact.

A more advanced form of addressing sogial challenges 15 cause marketing — a
practicc where companics support a specific cause through their marketing activities,

191. Why do companies set aside money in their budget for charities 7
(1} It helps to reduce their tax habilities.
(2) Pcople want to help others.
(3} Companics do not want to attract attention.
(4) [t makes people in the company happy.

192. What ig the change that is coming about now 7
(1} Marketing has become casier.
(2) Companies have started earning more.
(3) There are more advertising companics.
(4) There is a growth in social awarencss.

193. What is the most favourite area for donations from companies 7

(1) Healthcare (£} Education
(3) Social Ethics (4) Public Relations
194. What according to the author, will have only a limited impact on the transformation of
society ?
{1} Philanthropy (2) Social change
(3) Recession (4) Marketing strategies

195. What 1s the main idea of this passage 7
(1} Philanthropy focuses only on education. MU LIy
(2) Western countries spend more than others on philanthropy. %
(3) Cause Marketing is a better form of marketing.
(4) Compames donate some part of their income to chanties.
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Read the following passage and answer questions 196-200 :

To many people growing old seems like the end game in chess : life winding down
in a series of small moves with lesser pieces. As I age, | have discovered this is not true. |
am not an elderly king stripped of my powers, reduced to a ragtail army of pawns. My life
15 not a defensive struggle of restricted oplions. Growing old is a game of verve and
imagination and excitement. The outcome is not now a matter of strength, although that
still remains, but of faith and courage, hope and wisdom. The aging game is a spon for
which childhood and youth and matunty are no more than a preparation. [ts scope comes a
surprise. Il expamnds my life al a time when | expected it to diminish. It demands an
excellence that no longer seemed necessary. It asks me to surpass what I did at the peak of
my powers. Age will not accept second best. In the aging game | must be all ever | was
and am yet to be. What has gone before is no more than a leaming penod. A breaking in.
Age ig the combat for which [ was trained. Now | must take this person [ have become and
make each new day special. 1 must make good on the promise of every dawn I am
privileged to see. Life goes from a minor to a myorkey. The game builds to a climax.
Every move assumes importance. One feels like a vittuoso, the gifts we have been given,
the powers that empower us, the marvels that make Us marvellous, are evident as never
before. The truth is that we have lost nothing. The problem 15 not that | am less than | was
when young, it is that [ am not more. It is past time to become my own person.

196. What does growing old mean 1o many people ?

{1} the end of the challenges (2) mental degeneration
(3) lack of activity (4) boredom :
197. What does aging mean to the author ?
(1) o benegative {2) 10 be positive
(3) 1o laze around (4) to be depressed
198, What should aging lead 10 7
(1} perfection (2) . death
(3} illness (4) a marvellous existence

199. Why is the “aging game' referred to as a “sport’ 7
(1) ©Old people play games.
(2) ©Old age makes one young in spint.
(3) Problems of old age have to be overcome.
(4) Itis a game in which one loses or wins,

200, What does childhood and maturity prepare are for 7
- (1) aging
(2) to face old age with hope and wisdom
(3) torestinold age
(4) to be prepared foriliness in old age
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